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8 Wavks:

\> Find the anea oj o thombus {; its vadtices ane [~4,- 1)
(—\,2) (&?) and (S,‘H) token in order

2) Show thak the -jmm Po’st (o,-x)(b,%)(;l,a)‘ and [_Z,:J Gy
Yoo vextices 0} o vectanale and also -jL'md e wea.

99Skow that fitl >(\,o) (—\,z) (—5,0) one  taken in  odder .‘ﬂﬂ%
ﬂ—wm o Squoe ii) (v3) (w2 () (-w,uy) J

9) Name the \aPQ of- cvmdx;\o&'ua\ j—o(mu), ik wa)% the
‘j'o\\ou)'m pom‘f:s) and Ve Yeasons j-w oWl OGNS W :

D (W) (1) (wa)(),2) i) (-2 (30) (0,3) (F-4)

S) Fmd the omea 03— rhowmbus IJV i verkies aw (3,0) (q,g—)
C-s,\,\) ond (;1,—\) Yaken in ovder and j»—m& Yhe \ev}j‘\—h o.} the
sides-

6) Iﬂ' P(,”") ,8\(_3,\_\)) R(,_l’a) and 5("‘5)”) be t}-oun Po’mt's n a plan,
Show that pPars is a vhombus

) 3 (v2) (Wwy) (:6) ond (_&5) ofe the vevkices o}»a Fanq\\e\odmm
Yoken n  oxdeyr —j-md L and and also —}'\nd Yhe anea-

9 T Ahe Pomﬁ A(b,\>, BL@,:—), c(;q,l.D and D(PA) ae the
vervices el a Fanal\e\o(t]mm, find p?

Q)I»'—md Yhe woddinales 0& the Fo’W\TS O{— Yrisection o§» line
sa,amen’c JO]MS} (u,—\) ond C-—a,)—s)

DA ol () WED ) Do (o
v) (6 ) (—6 ,~0«> \9

6) Find Yhe coocdinales of the poink which divide Hhe line seamzn’t
joining A(rz,z) and B(_z,GB e -}oun quu.a.l pants

D) 1} A ond B ane (—1,-?—) and (2,-q) vesPa.Cﬂue\d -51'“& the
Coovdinales of P Suth that Ap<2 AR and p Ves on Yhe
line .Soamen\' AB.
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12) Find the valio W whic) the \ine :‘ekc‘\vwn\r \\mmmI A(y-s)
and B(“h\\\ (s divided \”\\\ the X-axis. Also \ﬂ\nﬁ the
cooxdinales  of 1he ‘m\‘m\ (\\{ division.

1) Find  the yaltio v which the vy-axia divides dhe Yive ,«;p\]“wn)
\\““““‘1‘\1 The P(\\\\\S (‘r‘f 6) and (“‘r'"\ A\so -;\‘\m’\ Yhe g‘m'm\r \O'&
intorsection.

2 Marks:

) Find the Ais\ance oot ween -\wo Po\nﬁ'\)(coso,o\ and (0,&'"10)
i) (o)) ) (=8,)(-13) W) (a®)(-a,-b) W)=Y o) VHE D (E3R)

2) Find @ valaYion lsetween % and such Yhat the point (¢, 4)
s Qqﬁ;diﬁm\' -jvom Yhe points (3,6) and (-3,4)

3) Find the values  of 4 —Sov which Yhe distance
Fom\'s PL},-A) and QC“’)H) 1S 10 units-

‘-\)i)Fﬁnd the vodiws oF Yhe civcle whose canter 18 (3,4) and
passes  through (0)0)

i) (36,15 (©0)0)

5) Do the poin's (3:2)(-2-3) and (2,3) dorm a -h‘\ou&j\o.? 3} so,
name ‘Hno. \an 05- 'briowaj\t &wmec\-

e) Find the Po'm* on the X-cxis which is e,q#idlahv&- -}vom
Cx,—s) and (-2,9)

3 F;nd a Po(x\sr on the \j—axh which is eq/u.idisb.n)t jtroM ‘Hw.
botnYs A (615) and 8(-W3)

%) F(v\d the  disYance boYween Yhe Fom\’é
1) (a-\—\o) u-h) (a—b,—q—b> 39 (Sme-cose,o) (o,

q) Find Yhe mtho(vd‘ 0} Yhe \ive Sa-ama.r\\' JO'M"“J
) (8,2) and (%)3) i) (€es0,0) (0,smao) iw) A(-23) and 8(0,3)
W) A@s) ande(-23) V) (@11, (-6, -)

lo) (0)0) (q‘o)(u.q) (0)4) one taken i  ovder —Horm a SWQ.SMO\Q
Yhok dia(jo\nah hisect each othex-

between the

S0 +C0s0) "‘D("‘»") (=29



\D What is the othar end the diametor oi» a circdde whase
cantre s (12) and ona ewn potnY of the diametrer is (,3’9)

lz> F(nc\ fhe coo(o\'mcﬁes o& a Fo’m% A, where AR is Hhe dtamatar
05» o civcle whose centre is (J-,-3> and B s (‘;‘-l)

,3> 1.} PLE))‘o) s the m?dyo’m\' o& the line 608W\0_n¥ \’)o'm'm(j A(L,5>
ama\ B(q,x),-&(nc\ -

UD'\)Po'm\’ on \:)o‘s(’r(w, X —oxis s
79Po'm\’ on Y\qao&(ua_ X—0oty 18

YD PoinY  on Po&?\*’x% y-osda is

1\:) Po'm\t on “Q_ao.\iuo_ 7-—&\&4 s




